| > restart
>
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_> EcuacionOriginal := 2-x-y(x)--3 +5-p(x)--4 —18-x--2-y(x) + (3-x--2-y(x)--2 +20-x
Y(x)--3 —=6:x--3 +40-y(x)--4) -diff (y(x),x) =0
EcuacionOriginal = 2xy(x)3 + Sy()c)4 —18 xzy(x) + (3 xzy(x)2 + 20 xy(x)3 —6x €))
d
+40 y(x)*) (aym) ~0

> with(DEtools) :
> odeadvisor(EcuacionOriginal)

i [ _exact, rational] 2)
> M:: 2-x-y.-3 +5.y..4—18.x..2.y
i M:=2xy3+5y4—18x2y A3)
> N:=3-x2:9-24+20xy-3—6x-3+40-y--4
i N:=3)¢2yz-|—20xy3'—6x3+40y4 “4)
> Comprobacion, = simplify(diff (M, y) — diff (N, x))
Comprobacion| :=0=0 S)
(> IntMx = int(M, x)
i IntMx = xzy3 +35 xy4 — 6yx3 (6)
> IntNy := int(N, y)
i Inz‘Ny:=x2y3+5xy4—6yx3+8y5 @)
> SolGral, = IntMx + int( (N — diff (IntMx, y) ), y) =C,
SolGral, :=x2y3-|—5)cy4—6yx3-|—8y5=C1 3)
[ > SolGral, = IntNy + int( (M — diff (IntNy, x) ), x) = C,
SolGral, :=x2y3-|—5)cy4—6yx3-|—8y5=C1 )
;> restart
. .. X 1 1 y(x)
cuaciontrisina sqrt(x -2 +y( ) 2) x o y(x) ( sqrt(x--2 +y(x)--2)
1
+ — -di =0
y(x) 2 ) o
EcuacionOriginal: —* L + (1 ) + ( r(x) + (1 ) (10)
\/x +y(x o Y \/)cz-l—y(x)2 Y

y(;z J (ay(x)) =0

;> with(DEtools)
> odeadvisor(EcuacionOriginal)
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X 1
M= —+—
> sqrt(x--2 +y--2) + X + y
U S S & (12)
i 2 45 x oy
. y 1 X
> N:= — =
sqrt(x--2 +y--2) y y--2
Ne—2 4l 13)
x2+y2 Y y

(> IntMx = int(M, x)

IntMx =y 2 +3 +1In(x) + i 14)
=> SolucionGeneral = IntMx + int( (N — diff (IntMx, y) ), y) = C,
SolucionGeneral := \/T-i-yz +In(x) + % +In(y) =C, 15)
> SolGral == \/Ty(x)2 +In(x) + y(xx) +In(y(x)) =C,
SolGral =+ ¥ +y(x)* +In(x) + y(xx) +1In(y(x)) =C, (16)
=> Ecuacion| := diff (SolGral, x)
2et2p (goon ] [ gam] o
Ecuacion, := B + — + — + =0 A7)
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=> Ecuacion, = simpliﬁ/(isolate(Ecuacionl, diff (y(x), x) ) )

4 =20 Py v 4y 0 ) .
I & x (0 = o Hy? V47 pi)
> Ecuaciony := simplify(isolate( EcuacionOriginal, diff (y(x), x)))

v (V24307 y@) +a o 4y +y(n) ) 19)

Ecuacion2 =

Ecuacion, .= — y(x) = -
37 dx
I x i =24y + 4y y)
> Comprobacion, = Simpliﬁ/( rhS(Ecuacionz) - rhs(Ecuaci0n3) ) =0
Comprobacion, :=0=0 20)

>




